





PAYMENT PLAN



4 YEARS INSTALLMENTS PLAN LAUNCHING OFFER

Ground Floor

Apartment Type	Size (Sq ft)	Rate (Per Sq ft)	Booking (8%)	Allocation (6%)	Confirmation (6%)	15 Quarterly Installments (75%)	On Possession (5%)	Total Amount
Executive - A	1,400	17,000	1,904,000	1,428,000	1,428,000	1,190,000 x 15 = 17,850,000	1,190,000	23,800,000
Standard - B	1,230	17,000	1,672,800	1,254,600	1,254,600	1,045,500 x 15 = 15,682,500	1,045,500	20,910,000
Standard - C	1,255	17,000	1,706,800	1,280,100	1,280,100	1,066,750 x 15 = 16,001,250	1,066,750	21,335,000
Back Corner - F	1,300	17,000	1,768,000	1,326,000	1,326,000	1,105,000 x 15 = 16,575,000	1,105,000	22,100,000

First Floor

Apartment Type	Size (Sq ft)	Rate (Per Sq ft)	Booking (8%)	Allocation (6%)	Confirmation (6%)	15 Quarterly Installments (75%)	On Possession (5%)	Total Amount
Executive - A	1,400	16,225	1,817,200	1,362,900	1,362,900	1,135,750 x 15 = 17,036,250	1,135,750	22,715,000
Standard - B	1,230	16,225	1,596,540	1,197,405	1,197,405	997,838 x 15 = 14,967,563	997,838	19,956,750
Standard - C	1,255	16,225	1,628,990	1,221,743	1,221,743	1,018,119 x 15 = 15,271,781	1,018,119	20,362,375
Front Face - D	1,300	16,225	1,687,400	1,265,550	1,265,550	1,054,625 x 15 = 15,819,375	1,054,625	21,092,500
Front Corner - E	1,375	16,225	1,784,750	1,338,563	1,338,563	1,115,469 x 15 = 16,732,031	1,115,469	22,309,375
Back Corner - F	1,300	16,225	1,687,400	1,265,550	1,265,550	1,054,625 x 15 = 15,819,375	1,054,625	21,092,500



4YEARS INSTALLMENTS PLAN LAUNCHING OFFER

Second Floor & Third Floor

Apartment Type	Size (Sq ft)	Rate (Per Sq ft)	Booking (8%)	Allocation (6%)	Confirmation (6%)	15 Quarterly Installments (75%)	On Possession (5%)	Total Amount
Executive - A	1,400	15,750	1,764,000	1,323,000	1,323,000	1,102,500 x 15 = 16,537,500	1,102,500	22,050,000
Standard - B	1,230	15,750	1,549,800	1,162,350	1,162,350	968,625 x 15 = 14,529,375	968,625	19,372,500
Standard - C	1,255	15,750	1,581,300	1,185,975	1,185,975	988,313 x 15 = 14,824,688	988,313	19,766,250
Front Face - D	1,300	15,750	1,638,000	1,228,500	1,228,500	1,023,750 x 15 = 15,356,250	1,023,750	20,475,000
Front Corner - E	1,375	15,750	1,732,500	1,299,375	1,299,375	1,082,813 x 15 = 16,242,188	1,082,813	21,656,250
Back Corner - F	1,300	15,750	1,638,000	1,228,500	1,228,500	1,023,750 x 15 = 15,356,250	1,023,750	20,475,000

4th, 5th, 6th Floor

Apartment Type	Size (Sq ft)	Rate (Per Sq ft)	Booking (8%)	Allocation (6%)	Confirmation (6%)	15 Quarterly Installments (75%)	On Possession (5%)	Total Amount
Executive - A	1,400	15,500	1,736,000	1,302,000	1,302,000	1,085,000 x 15 = 16,275,000	1,085,000	21,700,000
Standard - B	1,230	15,500	1,525,200	1,143,900	1,143,900	953,250 x 15 = 14,298,750	953,250	19,065,000
Standard - C	1,255	15,500	1,556,200	1,167,150	1,167,150	972,625 x 15 = 14,589,375	972,625	19,452,500
Front Face - D	1,300	15,500	1,612,000	1,209,000	1,209,000	1,007,500 x 15 = 15,112,500	1,007,500	20,150,000
Front Corner - E	1,375	15,500	1,705,000	1,278,750	1,278,750	1,065,625 x 15 = 15,984,375	1,065,625	21,312,500
Back Corner - F	1,300	15,500	1,612,000	1,209,000	1,209,000	1,007,500 x 15 = 15,112,500	1,007,500	20,150,000
1 Bed Type - B	680	15,500	843,200	632,400	632,400	527,000 x 15 = 7,905,000	527,000	10,540,000

CITY APARTMENTS

- 12-C, Satellite Town, Rawalpindi
- **9** 051 8488 110

Note

10% Discount on Lump sum Payment and 5% Discount on 50% Payment.

Mentioned Payment Plan and Prices are subject to changes without Notice.

All Construction charges are including in this price.

Online Transfer & Pay Order/DD detail:

Account Title: CITY APARTMENTS

Account No.: 2010994918

IBAN No.: **PK89SAUD0000652010994918**

Swift Code: **SAUDPKKA**

Bank: Silk Bank

Branch Code: 0065

Real Investment Marketing is the only authorized company to receive payments on behalf of CITY Apartments.

Name:	Total Price:
Apartment No.:	Discount:
Apartment Size:	Floor:
Type:	Accounts (Stamp/Signature)
Client Signature:	